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QUESTION PAPER PHYSICS-SSC.1(2024)

SECTION.1 =
TIME:15 min Marks:12
OBJECTIVE
QUESTION A B C D
1_ ‘Normal human body temperature is 37K 98.6K 310K 273K
= _)?.__l_);mji S PV Sl Al Cinaa
2 | Magnitude of F, and F, will be equal if a force F acts at 30° 60° 45 90°
angle
238 F G s (8 s SO e (S Fy Ll Fy
3 | The device that converts light energy into electrical Electric cell | Electric bulb | Electric Photo cell |
energy is Generator
8 a5 e SO S a0 Y g il g ATV FERES U P U
4 | The symbol Kg m s is used for the S.1 unit newton pascal joule watt
=09 = U et Kgm st ) S & S| e
B Jsly AFEN Sy
5 | Water Freezes at oF° 32F° 0K 273K
S od s rudos S
6 | The Vector Quantity is Density Distance Speed Momentum
o e Sy |f .
7 | Among Newton’s law,s the law of inertia is First law Second law | Third law law of
. gravitation
= A8 i e e (il B S (Fs 038N s Mgy (| g 1yl | | o2
NN
8 | Ingases heat is mainly Transferred by Conduction | Convection | Radiation Molecular
) collision
oo LS oyl s JLESE 505 ey g eS| BECGK 550 S R Y= 15} K sl
. 355
9 | Aspeed of 10 m s'when taken in Km h**will be equel | 3600km h* | 1000km k! | 36km h*! 100km h!
to ] )
S soy 5 Bley e Kmh? xS 10 m s Sgw
10 | The graph which does not obey Hook’s law is XT P XA X/{Z XN
L~ - o=
= | = —F | . F
11 | The orbital speed of a low orbit satellite is ) 8ms™! 80ms™? 800ms™* 8000ms™
2 R (S DS R S B Sl
12 | A correct form of equation of motion will be vP-v=2as | vP=vP+2as | vP=vi®-2as | vit+vf’=2as
Caus 3 (S Sl gl (S 28 ja
| 8 5 cupm
-___| - S - J
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SUBJECTIVE

/ Part1

Q.2 5%2=10
Attempts any five parts

I . Differentiate between Base units and drived unit oS (A ) S oS 38he sl oS s
I1. How will you measure the least count of screw gauge?  £.=8 (i pstas S St B gL s Se S G T
MIl. Draw Speed time graph showing uniform acceleration?
) ¢ il Bt S S S o8 Lol 5 S TTT
IV. How can a vector quantity be represented graphically? ¢ - UiSws la LSl oS S8 £ 5 1 205 STV
V. Write any two factors upon which accuracy in measuring a physical quantity depends.
.t Seaadl 1S S a3 I S R (SMRa i S 2 S el 51V

VI. Define centripetal force.write down its equation. - oS Ol gl Sl b S e S s e VT
VII. The speed of an object is 4 m s* and it becomes 2 m s in 10 S.find its acceleration.

- UL psta G S s g B b e D B g e B 10 85 B SR AR S pca SV
VII. Define an isolated system.write down its example. et Jlia Sl J5) S i a5 (S afes B2 0 VT

Q.3 5%2=10

Attempts any five parts

I . Values of perpendicular components of force are 8N and SN.Find the magnitude of this force.
- =t pstee MR € s R Sl s SNUSIBINGR (S (TS (5358 S uost S ]

Il . Differentiate between center of gravity and center of Mass; - . -5 b o o-be il Jii ) (A5 S U‘J‘——- I
II. Define a rigid body.. S i 25 S edh 3a g TIT
IV. Define gravitational force.Why do not we feel this force between objects around us.

o5 O O 88 e sh e s S Pl S R 2 ey S eSS (s £ Gl gt TV

V. Define work.write any two factors upon which amount of work depends.
= g Jlaail S Jloa (SS9 g 0 S Jalse b S S (S S,V
VI. What is an ideal system Practically such a system does not exist, why? Ui 05as (58 pens Lasl. s LS s | e VT

. What is an artificial satellite.How centripetal force is provided to it.
= 5 b oS st By 5 i mgtha oS el 38 LS S Sghas VT

VII. Find the torque produced by the force. § a8 pglaa jliia S S U VI
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/\ S Al 5*2=10
Attempts any five parts

I .Write down the factors upon which pressure of a liquid inside it depends?
= L leandl LSy S el a1 =S dla g 0208 a3 Jalge 0

I
II .State Archimedes principle? =S AT Jgeal K el I T
II.Define Strain.it has no unit why?

£ Uiy O3 Caiga \S (b S a3 S (i . T

oS Qi O3 JiSe 05l oS @i b 08 5 &5 100 I

V .Write down the values of temperature of lower and upper fixed points of centigrade and Fahrenheit scales?

: oS Oiad (S g S il gy B i) gl gl S e i Mgl IS B R B Ly

VI.Why the value of temperature coefficient of volume expansion (f3) is three time as that of temperature
coefficient of linear expansion (a) for solid.

IV.Convert 100°F into temperature on Kelvin scale?

L O ()i () oS 5By I (A sk aad (S(B) s (A 58 Sy U o o SSe Ll st VT
fuss =
VI.write down any two factors upon which the rate of emission of radiation from a body depends?
1S o (S Sl (Mg S g o S Ol shy o pesd (€ s 0 28 a3 Jalge el 50 VT

= bgi jlas)
VII.What cause a glider to remain in air? C S cuw S iy s I S R VT

Muhammad Ashraf Bhatti Principal Govt.High School Chak#107 SB SGD 03006042951


https://v3.camscanner.com/user/download

; PART 2

Marks 9*2=18

Attempts any two question =8 paicbln S EVl g g3 (S

Q.5

(@) Whatis a graph.Draw distance-time graph for. .= Gl § ailiabah ) S 00 gos e LS il £

.  whenobjectisatrest. 3OSl e Laa
. . - - . -
II.  when object is moving with constant speed. s by S D GBS aea caa
. . . . - b
. when object is moving with variable speed. c 5 U S A i S (5 g pead i

(b) A body of mass 5 k g is moving with velocity of 10 m s.Find the force required to stop it in 2

seconds.
= =S S o B 93 58 O L) S S0 e B 8 S0 B 110 puad S 1S el o1 S5
S agha uyd

Q.6

() How a force is determined from its perpendicular components? S (u sd —w 334 (S (il g1aS (54940
o St
(b) The steering of a car has a radius of 16 cm.Find thetorque produced by a couple of 50 N.
Vg o s U8 S (o8 50 o S s 160w S Jang Sl S S 8

Q7-

(a) Discuss the factors upon which rate of flow of heat across opposite ends of a material depends,
Hence drive an equation for thermal conductivity?
CuhmﬂLSc)uuSyLw;SuJ‘»cuu»hm—ﬂmuSdﬁmm&fuL:ﬂuLud-:U“- X
C\;.&h\u\‘g\.uuusuu‘g.ﬂus‘}a_)é.a_)u
(b) A container has 2.5 liters of water at 20°C.How much heat is required to boil this water?
= S 58 S el e DS A o 8520 sl 1S G o 353 5a (A 1 2.5 O G S
o M8 e IS S el n
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